STUDY QUESTIONS 4

1.  Procter and Gamble has a patent on an elastic waist band for disposable diapers.  Dupont is the only company making the elastic used in the waist band.

    P&G made 10 million diapers, sold for 25 cents each.  Their cost was 20 cents per diaper.  Each diaper contained elastic that cost P&G 6 cents paid to Dupont even though Dupont had a production cost for that elastic of 4 cents.

    A)  What are the "welfare triangles" for P&G and for Dupont?

    B)  What other welfare costs of price searching might be associated with the described situation?

    C)  Discuss the incentives for vertical integration implied by the described situation.

KL Hints.  Assume a linear demand.  Note that MC is constant.  You can now estimate where MC would intersect the demand and calculate the value of the welfare triangles.  Note that this is a story of vertical price searchers.  Hence the “actual” welfare triangle is much bigger than the sum of the two small ones.  And you can calculate it assuming the linearity of demand.
2.  Maxim Inc. has a "secret"  specialized analogue to digital (AD) chip.  One other quite small seller (Qualitron) has managed to reverse engineer the chip.  Many other producers make various other types of AD chips though none exactly duplicates the Maxim function.  Maxim's production cost for making the chip is about 36 cents each.  They sell about one half of their chip output to various companies making flight data management systems (FDMS) used in commercial and military aircraft.  The other half of their chip output is used in making a computer mouse controller device that they make themselves.  


The derived demand for chips in the FDMSs about -1.2.  Maxim sells about three quarters of the chips used in FDMSs.  


The Maxim mouse device sells for 72 cents and it includes other parts costing Maxim about 30 cents.  Maxim sells about three quarters of this particular type of mouse controller device.

A.  Do you believe there is a "relevant economic market" for the Maxim AD chip used in either (or both) FDMSs or in mouse controller devices?  Explain carefully referencing what significance any of the provided facts played in your analysis.

B.  What would you predict about the market share of Qualitron in the sale of its chip for use in FDMSs versus mouse controller devices?

C.  Based on the provided facts why might Maxim elect to make the mouse controller devices but simply sell the chips to FDMS manufacturers? 

